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Question Number : 1 Question Id : 3354728231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which was the first satellite built by the Indian Space Research Organization? | W4 [ STIer S Ja- g
TTHT UgaT IUTg &I AT 477

Options:
1. ® Rohini | ¥ %UI

2. % Bhaskara | ATCHT

3. ¥ Aryabhata | ST
4 % Trishul | Be@

Question Number : 2 Question Id : 3354728232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which state is The Bhagwan Mahavir Wildlife Sanctuary situated? | o =g § WTETH AEER o =id SRR
T 27

Options:

1. v Goa | Tar

o % Kerala | 99

3. % Manipur | A0
4. % Eihar | TR

Question Number : 3 Question Id : 3354728233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following bones is located in the hurman arm? | WEAET gigat § 8 @19 6@ 7 9o § 760w g7

Options:

1. % Sternum | FETET (F24A)
2. ¥ Radius | tizz9

2 % Patella | FATT-2RT (TwaT)
4 ® Fermur | Z&— a6 (a0

Question Number : 4 Question Id : 3354728234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the States Reorganisation Act passed? | T4 [ATa- stai-raw e o # urica gam a7
Options:

1. ® 1954

2. % 1955
3. ¥ 1956
4 % 1957

Question Number : 5 Question Id : 3354728235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Day against Child Labour’ is celebrated on _____________ of every year. | ‘Tealer STerl 0 e, wede oy
T AT AT 21

Options:
1. % 12th June | 125
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2. % 14th June | 14 39
% ® 14th Novermnber | 14 Jge%
4 % gth June | 957

Question Number : 6 Question Id : 3354728236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who presides over the joint session of the Parliament? | @68 & 3% T &1 TeT4dT B4 FaT 57

Options:
1. % Speaker | aredy
2. % Deputy Chairman | 37 THT

% % President | TTEdf
4. ¥ Vice President [ 30 70l

Question Number : 7 Question Id : 3354728237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following satellites did ISRO attempt to launch on August 31, 20177 | 29 IuUg! § & fora= goaer &t
21 &g 2017 ® waftT @ @7 T

Options:

1. % INSAT -1C | 399 -1C

2 ¢ IRNSS - 1H j IRNSS - 1H
3. ® PILV - 14 ) PSLV - 14

4 ® Astrostat | THZELT

Question Number : 8 Question Id : 3354728238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MNarme the act passed in 2016 which seeks to protect horne buyers interests in India. | 2016 # it stEi- @1
T odTT AT RS | Wie] GIgR ] 3 Tgd | &1 T3 a1 27

Options:

1. ® Home Buyers Interests Protection (Regulation and Developrment ) Act 2016 | T @Iga R B g (i
i e arfaf=m 2016

2. % Real Estate Investment (Protection & Development) Act 2016 | Teae gede Toehar (awyor o e srreiam
2016

=, ¥ Real Estate (Regulation and Development J Act 2016 | frae uede (Aiaae = Ham afamm 2016
4. % Real Estate Regulatory Authority Act 2016 | T gede e wrrde arféfaem 2016

Question Number : 9 Question Id : 3354728239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Indian to become a member of British Parliament? | 92 968 & A6 a0 aTd Tge e 19 B

g7

Options:

1. % W.C Banerjes | See] @1 a1

2. % Bal Gangadhar Tilak | =& TR Hew
=, % Dadabhai Naoroji | SEM¥E AT

4. % Lala Lajpat Rai | @TAT A0 127
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Question Number : 10 Question Id : 3354728240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does MSME stand for? [THTEUAS 7 Q0 &0 77 57

Options:

1. % Micro, Small and Medium Enterprises | AIE®!, THIA TS HIZTH see0g=r
2. % Money Savings Minor Enterprises | AT AT ATEAT S{ATZA=

% % Major Savings Management Endeavours | B didw B U2ae

4 % Maharashtra State Municipal Engineering | AERIE €T R TETA So -1

Question Number : 11 Question Id : 3354728241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is appointed as the Cormptroller & Auditor General of India in Septernber 20177 | @ 2017 HAXT &
T U A TeraT ularer o ©0 H T e T mam g7

Options:

1. ¥ Rajiv Mehrishi | T A5MH

2. % Vinod Rai | TFg =

= % Sashikant Sharma | aiserT el
4 % sunil Arora | A RIST

Question Number : 12 Question Id : 3354728242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which present-day state of India did the Railways run its first train? | adAE H 9RT & &0 =g § Tod o Sm-T

e ool ZIFITS 7

Options:

1. % Maharashtra | AERIE

2. % Gujarat | ToRE

3. % Uttar Pradesh | 30¢ Ugar

4, % Madhvya Pradesh | 7 0cqr
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 13 Question Id : 3354728243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following constructions in Madhvya Pradesh has MNOT won the Aga Khan Award for Architecture?
| e wear o ieiET o & fre Hior < aregwar 3 o0 s @ R Ag S

Options:

1.IO # Aranya Corrnunity Housing, Indore | SRURT FFJHT FIEET, G170
2. ¥ Vallabh Ehawan, Ehopal | Tea ¥4, |

Z. % Vidhan Bhavan, Ehopal | erem seaq, amma

4, % Slum Networking, Indore | A0 S2aiaiT, T2

Question Number : 14 Question Id : 3354728244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wmch region is f%ﬂ%::&ls for bauxite, copper and dolomite in Madhvya Pradesh? | 70 029 # #19 97 &7 F19HE,

Options:
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1. ¥ Ealaghat | 9T

2 % Jawad | Fag
% % EBhaircngarh | ¥2iTg
4. % Satna | qaqr

Question Number : 15 Question Id : 3354728245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following places is the Siddhnath Barahdwari Mandir located? | FafeieEd # & foa sy fgam
ARTRENT Al 2T &7

Options:

1. ® Mandhata | FeTar

2. ¥ Omkareshwar | AT

3. % Harda | g%a1

4. % Punasa | [T

Question Number : 16 Question Id : 3354728246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Immediately after Indian independence, Guna became part of the state of
T o T T T = T

Options:

1. ¥ Madhya Bharat | Hed dHT

2. % Vindhya Pradesh | e e

= % Ehopal | 4T

4. % None of the above | S0 T FIE 751

.| YRA T T AT & TAEA o0,

Question Number : 17 Question Id : 3354728247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alirajpur is part of Lok Sabha Constituency. | ST _________ A AT foatem &3 &7 e 21

Options:

1. % Ratlam | ¥dAH

2. % Jhabua | T

Z. % Barwani | s=amT
4, % Khargone | &

Question Number : 18 Question Id : 3354728248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many districts are there in Indore division? | 327 &d4 8 Tora= Fe 87

Options:
1.¥ 3
2 %9
3. % 10
4 % 12

Question Number : 19 Question Id : 3354728249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

26th Dec17 Shift 2



Correct: 1 Wrong: 0
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Where was the FIFA 2017 U-17 World Cup held? | $IET 2017 &727-17 1ok &7 @gT i g =T 277

Options:

1. % Ush | gueg

2. % Belgium | dieaaq
% % China | @

4. % India | ¥RT

Question Number : 20 Question Id : 3354728250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The two main stock exchanges in India are ___and ___. | A%d # 37 §&7 3K a1

Options:

1. ¥ National Stock Exchange of India, Delhi Stock Exchange | S8 ToTa Uaa= Tk S129T, Taes] T2Tw Toram
2. % MNational Stock Exchange of India, Bombay Stock Exchange | S9a 216 Uad= $TF S124T, dife woid g
%, ¥ National Stock Exchange of India, Calcutta Stock Exchange | S8Hd T21d Taee HTF STEaT, Hoddl teid

4. % Calcutta Stock Exchange, Bombay Stock Exchange | Sadl €210 Tael, dife Feid e

General Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions;

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472274
2

Online
Mandatory
20

20

20

Yes

No

1
335472274
Yes

Question Number : 21 Question Id : 3354728251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If MNew Year in 2002 fell on a Tuesday, then 26th Jan 2004 will fell on which day? | afe 2002 # Fad AT B

TET AT, T 26 Tt 2004 F1 B A7 faT 2y
Options:

1. % Monday | 9HaT

2. % Tuesday | ATHAR

% % Saturday | giar

4. % sunday | AT

Question Number : 22 Question Id : 3354728252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

26th Decl7 Shift 2



26th Dec17 Shift 2

Look at the string YERTEXYERTEY . WYERTEX repeated 10 times. In stage 1 rermove all odd position letters. In
stage £ rernove all odd position letters. Repeat this till a single letter remains. What 1s the letter? [ 93
VERTEXVERTEX... VERTEX W £ SIf =157 VERTEX 10 =T YT o 31 X0 1 H # few worr ot fe8ra aryt w1
T =0T 2 H T it o v vy T2 araRt 1 geT UNT 99 9% S50 A 9@ ToF ST TR 274 7 8T T8 OF 274 F4T 87
Options:

1 %

2 % T

3. %X

4 ¥ E

Question Number : 23 Question Id : 3354728253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The fraction % reduced to the lowest terms (where numerator and denominator have

no common factors) is_.f?—-ﬂfl?lﬂqa‘f ﬁrar'cﬁ—..—rféqr—rr %ﬁ::: ___ gYem (SiET
3 A 5T & BIS o FA TUAEE A6 ) |

Options:

73
1. % 70

70
37

70

Question Number : 24 Question Id : 3354728254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the value of ‘x° for x3+2x2-5x-6=07 / x3+2x2-5x-6=07h TolU %' & Al F4T &7

Options:
1.% 0
2 %1
3.9 -1
4 ® 2
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 25 Question Id : 3354728255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Let £ABC = 50°, AD and CD are angle bisectors of angles BAC and BCA respectively. Then
£ADCis__. | & AT 24Bc = 50°, AD 31X CD FH: HIUT BAC 31K BCA &

HIoT 37elF g1 ar 2ADC 2l

B

Options:

|« 100°

L 130°

. o 115°

4. % None of the above | Jud® # & #1E T51

Question Number : 26 Question Id : 3354728256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

(149+33)—21=?
2 2
Options:

1.4 150

2 % 155

. % 160

4 ¥ 151

Question Number : 27 Question Id : 3354728257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | &g e

19, 24, 18, 10, 39
Options:
1. % 25
o % 24
3 ¥ oD
4 % 20

Question Number : 28 Question Id : 3354728258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Two angles of an isosceles triangle measure 70° and x®. What is the sum of the three possible

1‘ﬂuesnfx?fﬂﬁ?ﬂﬂﬁﬁﬁ1ﬁaﬁﬁﬂﬁ?€f HIOT & A 70° HT x° B T & g
HeTTad ATAT &7 AT FAT 7

Options:

1. % 95

2 % 125

3. % 140

4 ¥ 185

Question Number : 29 Question Id : 3354728259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 254642 is divisible by 12, then the value of A is__. | IiE 254642, 12 & SM=a 8, IT A FTHE

Options:
1. %9
2. %7
3. ¥ 5
4 % 3

Question Number : 30 Question Id : 3354728260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

An article is marked 50% above the cost price. If a 10% discount is offered on the marked price, then what is
the actual profit percentage now? | UF o6q ®1 I0F w4 Trd d 50% arferer ue affer fmm mar 1 afe e Tma w 10%
fﬁ@é’rﬂﬁgﬁj AT et STEa T JT Wi T 8

Options:

1. % 40%
= ¥ 35%
Z% 2%
4. % 30%

Question Number : 31 Question Id : 3354728261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gagan can cover his notebooks with brown sheets in 20 mins. What percent of work he would hawve done in 6

1rins? | T 20 TiHe O o S € ST S B Sgd w awdl g1 6 e § 39 @ @ e uid e e g
Options:
1. % 40%

2% 30%
3% 25k
4. ¥ 20%

Question Number : 32 Question Id : 3354728262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An article is marked S0% above the cost price. The shopkeaper offers a discount of 10% on the marked Erice.

What will be the final profit percentage? | U Teq B #a rd § S0% T2 0 aifr foraT Tom gaa affed gra o
10% %1 g2 &7 F4aT 2l al%ﬁrﬁrm;rﬁ‘rww@m

Options:
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1. ¥ 35%
2. % Z0%
3% 25%
4 % 455

Question Number : 33 Question Id : 3354728263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two Coins are tossed once. What is the probability of getting both heads? | gf /&gl &1 UF W I97AT T2m AT &
a1 W T W T 57

Options:
1. % 32/4
2. %1
3.9 14
4 % 112

Question Number : 34 Question Id : 3354728264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many different combinations of Rs. 5 coins and Rs. 2 coins will give Rs. 277 | U= o0 & &g X 2 20 &
gt & fraa R w= 27 w02 31

Options:
1.% 1
2. %2
3.9 3
4 % 4

Question Number : 35 Question Id : 3354728265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The mean proportional to 6 + 27 and 6 - /27is: / 6+ 270G 6 - /27 & ToU Aeq Gl
it

Options:
1.¥3
2. % 9
2% 10

J10

4 ®

Question Number : 36 Question Id : 3354728266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the H.C.F. of two nurmbers is 2 and their L.C.M. is 70. Then the numbers are: |{ =g ST HEAT3ll T AgH QA
2 % U 37T Aol |Amaed 70 81 79 9ed &

Options:
1. % 2,35

2 % 6,70
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3% 4,70
4 ¥ 14,10

Question Number : 37 Question Id : 3354728267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should be subtracted from 363, so that the answer is a perfect square? | 363 # & F47 gem@y AT a@nizy, fF

T 1T 0T v B I?
Options:
1.%1
= 2
3% 3
4. % 4

Question Number : 38 Question Id : 3354728268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
%he least whole nurmber of four digits which is a perfect square is: | IR el & O ~gFa7 Q0 dear S & g g ot

Options:

1. % 1000
2. % 1012
=% 1081
4 ¥ 1024

Question Number : 39 Question Id : 3354728269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following number is a prime number? | 79 8 & 217 9 9%37 0F 3T 9647 57

Options:

1.9 107
2. % 115
2% 121
4 % 129

Question Number : 40 Question Id : 3354728270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The population of two cities & and B is in the ratio 5:6, respectively. Express the population of city & as a
percentage of the population of city B. | &7 e & 31T B Y SIeEEaT T 506 & SO | 81 TET A T T F T E
T AT o WG AT o €0 1 oI @)

Options:
1. % 120%

2. ¥ 53.33%
2% 16 66%
4. % 20%

Cereral Hindi
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Section Id : 335472275

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472275
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT B ST O Sea i 3 HT 7

Options:

1. ¥ &g, T, Aeg
2. % ouf, T, e,
3. % T A, U
4. ® AT, AW, T8

Question Number : 42 Question Id : 3354728272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FoH 955 & -
Options:

1. % =

2 ¥ T

z ® e

4 % Mg

Question Number : 43 Question Id : 3354728273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Taraft o =% 2~
Options:

1. % o

2.« gum

3 % Fwer

4. & et

Question Number : 44 Question Id : 3354728274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el UF ST S ATAT 073 FEaATaT 5 -

Options:
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1. *® TR
2. ¥ T
3. % dMEE
4, % AT

Question Number : 45 Question Id : 3354728275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T sl # ¥ ot gm 3-

Options:

1. % Ffaa-m
o % -
= % mAT-AHT

4. & T2

Question Number : 46 Question Id : 3354728276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“TES T FT Ui e f T A g

Options:
1. ¥ At
> % g
3. % giaar
4. ® Far

Question Number : 47 Question Id : 3354728277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“Titg o7 qumEE & W Uw e e H E wE T T

Options:

1. % i
o v i
3 % fdar
4. % faET

Question Number : 48 Question Id : 3354728278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘TEIcHT & | g g # S a | ge
Options:

1. % AE+Icdad

2. ® mEr+Ioad

3. ¥ mEHIoEd

4. % mEt+3eag

Question Number : 49 Question Id : 3354728279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B AW Aeg T H H # | e
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Options:

1. faga
2 % qgg
3 % gogg
4. % g

Question Number : 50 Question Id : 3354728280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U JUET AT 5, WH H W 57
Options:

1. % i awewn

2. ¥
3% A
4 % fEmmw

Question Number : 51 Question Id : 3354728281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Moy feg # 7 # & &1 a7 JHE 57

Options:

1. ¥ Jocqey 9Hg

2. ¥ e aeT
3. ¥ FHawg A

4, ® ity gumg

Question Number : 52 Question Id : 3354728282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T AT JE ET FE T AR
Options:

1. % g

2 ® s

= ® fafes

4 ¥ o

Question Number : 53 Question Id : 3354728283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘O e T g 0 I H # w AT R

Options:

1. ® WeatdhiE
2. ® qETATGE
3. ¥ qRATSE
4. ® TRIAIRE

Question Number : 54 Question Id : 3354728284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
26th Dec17 Shift 2
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T 31T SRS A, T 7 g
Teremet et I, W e ||
Ul A g A S a7

Options:

1. % g

o % A T
3. ¥ T O
4 % gFd

Question Number : 55 Question Id : 3354728285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ P §ad [, ®id, A= IR’
ﬂgaagtrmmei%%] ol ferdeur giage?

Options:

1. & &9 aEEe
2. ® IqAF ST
3. % wOF AAFN
4, ¥ JUAT STFAEW

Question Number : 56 Question Id : 3354728286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T Seg! 3 WHIT Wl IO ATel Uith @1 i - e, iy, oo, wea
Options:

1. i, Her, THEH, A

2. % T, VAW, F, TR

3. % vy, e, F, we

4. % I, WA, A, T

Question Number : 57 Question Id : 3354728287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

g # & g e @i gy -
Options:

1. & arer AT = ZE 0% 41T &t
2 % srml AN A B O T "
%, % TET FTAT S U S A Al

4 R Z0 UL aTH®! FT A e "

Question Number : 58 Question Id : 3354728288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 1 AT FATE =, M7 14 T2 #if,

ATl T T qaT , 9 e 51 7 Hifer 11
FAEHIT S0 TE AT, AES anierer foag gy -
HETATEe -

Options:
1. % Fwem

o ¥ AT
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3% TE T
4 ® fheg g

Question Number : 59 Question Id : 3354728289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

26th Dec17 Shift 2

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TEATO g, METeEd # & fadT degree g -

Options:

1. % moiiger e
2. % Rrfcredr B
3. ® Ee-oae
4, % qarEd

Question Number : 60 Question Id : 3354728290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ao He T o & T ST 7 IS a7

Options:

1. % gz aame

2 % fmrEEE

3.V FHART G0
4. ® JqgET GHE

Section Id :
Section Number :
Section type:

Fural Econorry and Panchavati Eaj

Mandatory or Optional:
Number of Questions;
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Number : 61 Question Id : 3354728291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472276
4

Online
Mandatory
20

20

20

Yes

No

1
335472276
Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following can impose tax on property in a village? | o & et d@uf o FaiatEs § & o9 @ am

qFAT 57
Options:

1. # State Government | =4 RN
2. % Zila Panchavat | FaT /=T

%, ¥ Gram Panchavat | TTH T=mad
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4. % Janpad Fanchayat | F=0g U=

Question Number : 62 Question Id : 3354728292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
There is no scope of marine fisheries in MP because: | A W § Tl AT U6 &1 G915 &, T

Options:

1. ® Itis very costly | Ig apd Hgril gl 5

2. % Nobody consumes marine fish | ®18 TG AFa T51 GWT s
z. ¥ The state is land locked | T &7 & o707 79

4 % No good varieties of rmarine fish available | SRHT UERT S0 GHG HEAT JUAH T80 &

Question Number : 63 Question Id : 3354728293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MAREFED 15 a ) MAREKFED Tl _____ %1

Options:

1. ¥ Council for marketing cottage industry products | Feiw JT & Fearal @ o & fon aig
2. ¥ Federation of Co-operative Societies | GE@l AHTAT #T BeaE

Z. % Organisation for marketing big industrial products | 9T FEIT & Jo01g] & &S00 & o Jmaa

4, % [nstitution for marketing automobiles | SHETEHA & O #7 G

Question Number : 64 Question Id : 3354728294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ralsh;%ig.;% I;’_ﬁ"?ishi Vikas Yojana was implemented in which plan period? | T8 i @ D=4 TiF 4T 2= o
T .

Options:
1. % 1997-2002

o % 2002-2007
3 ¥ 2007-2012
4 ® 2012-2017

Question Number : 65 Question Id : 3354728295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eee keeping in India is generally ajan_______ | R o WA OTe AT T al

Options:

1. % agro based rural activity | F19 ST Mg f&TE
2. % non-farm sector activity | MR- T AT

= % industrial activity | EiTE TR

4. % animal husbandry activity | I Tid ferter

Question Number : 66 Question Id : 3354728296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
INational RLIJ.I'Ell Livelihiood Mission (MELM) was introduced in the vear
o e T T

Options:

| T T ST T (MRLM) a9
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1. % 1978-79
2 % 1979-80
3. ¥ 2011-12
4 % 1951-82

Question Number : 67 Question Id : 3354728297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under which scheme is accidental death insurance cover for up to Rs. 2 lakh is provided to people of age
group of 18-70 years? | Tohe IieHT & S/7id 18-70 T T & 671 1 2 61 &, T GeleAT §og sl WG [T ST 57
Options:

1. # Atal Pension Yogana | afea dem F==T

2. % Pradhan Mantri Vaya Vandana Yogana | W= Fal 9 F241 F==1
3. ¥ Pradhan Mantri Suraksha Bima Yogana | Wer= e G siuT T
4. % Pradhan Mantri Jan Dhan Yogana | W §37 A9 &9 Tr=-1

Question Number : 68 Question Id : 3354728298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Madhvya Pradesh Eesettlernent and Rehabilitation of Displaced Persons Land Acquisition) Act was enactad
in____. jmaﬁmﬁwﬁamﬁm*mwwmwﬁ(@aﬁm T T =T 2m

Options:

1. % 1931
= ¥ 1949
3. % 1957
4, % 1983

Question Number : 69 Question Id : 3354728299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who %S?elects the Social Audit Comrnittee under the MGNREGA? | B-RTT oF S1dTid SIHTE A0S AT &7 oad &
T &

Options:

1. % Gram Sabha | T a47

2. % village Panchavyat | TTH U=
3. ® BDO | dtSterr

4. % District Programme Coordinator | FAaAT FTE®T GH-aaF

Question Number : 70 Question Id : 3354728300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Madhya Pradesh Water Sector Restructuring Project is related to: | Hed USa It 7 [T TR =mT1 T8 & Herid &

Options:

1. % Dairy | 290

2. % Agriculture | FH

3. % Fisheries | AT O

4. ¥ Improving the agru:ultural productivity thmugh rehabilitation and modernization of old or existing

irrigation schernes | QT AT GISET FEETE =151 3 Qrate e smeffea 0T gRT F JcuTgdwal § R HeT
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Question Number : 71 Question Id : 3354728301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which armong the following is NOT a local brand of bulls in MP? | FEETET # & s@f &7 19 € wid geg wg &
T T A5 1 57

Options:

1. % Gir | it

2. % Malwai | AFEs
3. ¥ Murra | 7T

4. % Nimari | T

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 72 Question Id : 3354728302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Watershed Developrment schemes are part of: | 97 & T ga@T BT &

Options:

1. ¢ Developing irrigation facilities | =g giaremst & e
2. % Rural Health | TITHIOT Famesy

% % Rural employment | TTHTT &

4, % 5Skill training in rural areas | TTHT &3 H SaaT TideT

Question Number : 73 Question Id : 3354728303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which schedule was added to the constitution by 73rd amendment related to Panchayati Raj? | | & 734
AT o U T O | HaTEd B AT Sfgege e 4T 917

Options:

1% 11th | 1147

2 % Bth /&l

= ® gth &

4 % 4th | 44T

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 74 Question Id : 3354728304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT taught under Pradhan Mantri Gramin Digital Saksharta Abhiyan in rural areas?
| AT gt H werer AT o 2w " arfiae & sl e # F T agt re e 9T 87

Options:

1. ® Cperating the computer [ FAYHZE IAMT

2. % Sending and receiving e-mails | E-Ha W=7 T 01T FAT
= ¥ Tally package | ¥t T

4. % Browsing internet | Sei-e A3 BT

Question Number : 75 Question Id : 3354728305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The revised targeted number of rural houses to be built by 215t March 2015 under Pradharn Mantri Awas

'&fojana—Gra%]in iS______ | W WEAT STTE ARAT-THI o ST 31 A 2018 qo THIT ERT R G W e
qET
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Options:
1. # 36 lakhs
2. % 41 lakhs
3. % 46 lakhs
4. % 51 lakhs

S6 WE
41 \rE

!
!
| 46 @ e
!

o1 Wy

Question Number : 76 Question Id : 3354728306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fart [¥ of the Constitution of India is related to .| AT o HierHT W7 91X

Options:

1. ® sSecularism | gHFRUEET

2. ¥ Panchayats | =T

Z. % Agrarian Reforms | 19 Qe GemR
4, % Rural Development | TTHT &

Question Number : 77 Question Id : 3354728307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the Constitution, election to constitute a Fanchayat shall be completed before the expiration of a
eriod of ______ from the date of its dissolution. | HIEEMT & SR, TF GG #1164 5 & o] g feoe ol e
______ T STETEr o FEIE F T o1 qut g1 ST e

Options:

1. #® Four months | X A1F

2. % One year | UF a9
2. ¥ Six months | & AR
4, % Two weeks | 3T TATE

Question Number : 78 Question Id : 3354728308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tlhe Mational Water Resources Council (NWWERC) was set up—g‘j%t?ﬁﬁ Government of India in

T U, (TS eeJ@TET) F FET 9 S o ay
Options:
1. ¥ 1983

o ® o012
3 % 2010
4 # 1993

Question Number : 79 Question Id : 3354728309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich is the agency engaged in providing solar lighting to villages in Madhya Pradesh? | 7e waer # Tt @& o0
I W TSN UG ®ee alal FIT T 27

Options:

1. # Deen Daval Upadhyava Gram Jvoti Yojana | &9 T3 JUTET WH =411d =41

2 ¥ Madhya Pradesh Urja Vikas Migarmn Lirmited | T 05a S0 fo@d Wy wiies

3. % Madhya Pradesh Rural Electrification Corporation | He< Wl T feegd e FHima

4. % Madhvya Pradesh Sclar Energy Development Corporation | TEamas 91T =1 feewrd T=mH
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Question Number : 80 Question Id : 3354728310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhya Pradesh Mukhya Mantri Kaushalya Yojana pertains to
T 7

Options:

1. ® Finance for agriculture | FY g &
2. ¥ 5kill development | B9 e

3. ® Dairy development | 24 @

4. % Mineral developrment | &= @

Cormnputer Knowledge

Section Id : 335472277

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472277
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& list of instruction used by a computer is called

__________ FEAET Bl

Options:
1. % Frogram | WA

2 ® Memory unit | BART AT
% % Video processing | dET BTG
4 % CPIU | |

__________ .| T TUZET % BT S ATA & S ATet o @ gt

Question Number : 82 Question Id : 3354728312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Linuxisafan ____________ i TR T BIAT 2l

Options:

1. % application | U

2 ¥ Cperating systern | TR #EEH
3. % Software | HiFcaw

4 ® Browser | WI3AT
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Question Number : 83 Question Id : 3354728313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A is a program that can infect other programs by modifying therm; the modification includes a copy of
the virus prograrm that can go on to infect other programs. | _____ T U HIUTH 3 =T 31 WAt H e 1 e 375
HFH T FE TRl 5 Tiad - H ATed WIHTH @1 BT =T 2 ST S WA ST SR THT FeAT ST T T 2]

Options:

1. % worm | 98

2 ¥ Virus | aeRd

2 ® Zombie | ST

4. % Trapdoors | eTER

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 84 Question Id : 3354728314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is ‘Zip’ and Unzip’ in a cormputer terrminology? | FHUIL @ Jearast § 0 797 eF T Fa7 51a7 27
Options:

1. # Zipis to upload a file fast and Unzip is to download a file | 70, BTEA & 3= & 20AIE T & @0 1% S,
BIEA F1 STIAAIE T & o BT &l

2 ¥ Zip is to cormnpress a file and Unzip is to uncompress a file or folder | F0, Bt SEa &1 FA0E 0 & 70 8T
SR, TTSel T hictat @i mﬁamﬁaﬁ%&@a“r%

3. % Zipis tolock a folder and Unzip is to unlock a folder | 70 U% BIest @1 #1w FC & Toi] A1 ST 0F BIAST
T AR e & e 5T &l

4 % Zipis to merge two docurmnents and Unzip is to separate thern | T390, S STHHTd &1 0 H0AT 97 ST 398
SFFTT- TG FEAT E1T &

Question Number : 85 Question Id : 3354728315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wrap text feature is present in which one of the following tabs in MS Excel 20077 | THIH TFdd 2007 H,

T o & o B WU Sree Giod JUed BT 57
Options:
1. % Home | §W
2 % Insert | 5@
3 % View | 99

4 % Forrrulas | ®TGAT

Question Number : 86 Question Id : 3354728316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following CANNOT be done in MS Word? | TATE o2 H, o= o & o 751 T =17 daar 27

Options:

1. ® Design flowcharts | GaATgH @1 2SS FAT

2 % add new rows and colurmns to tables | doad # T8 T 3 F1ed @1 ST
2. % Create Pie charts | U I a=M=T

4  Freeze Panes | U@ &1 i &7

Question Number : 87 Question Id : 3354728317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The tall page layout 15 knowrl as

Options:
1. % frame | HH

2. ¥ portrait | TR
3. ® landscape | dedET
4 % yindow | T2t

Question Number : 88 Question Id : 3354728318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

From which panel vou can insert Header and Footer in M5 Word 20077 | TAUE 92 2007 #, a7 T T9a & 52¢ &%
Fed ST L Aehd 87

Options:
1. % Home |

2 ¥ Inzert | 4@
3 % View | 77

4. % Review | tgg

Question Number : 89 Question Id : 3354728319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which special character is used to select specific pages for printing in MS Word? | TATE a2 #, e & Fg &

Options:
1. % Hyphen | TE®A
2. ¥ Cormma | T

Ly

3. % Plus | 479
4 % Colon [ wEAT

Question Number : 90 Question Id : 3354728320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The protocol that 1s used o access WebPages onl world wide web iS5

o O clelt T U @ o Ty TR ST,
Options:

1. % HTML

= ¥ HTTFP

3. ® TCP|IF

4. % GOPHER

Question Number : 91 Question Id : 3354728321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pressing and releasing the left button of a mouse twice in quick succession is known as_______ .| dT AT
T T TS de-T el I~ Tela ST S B1SAT _______ T ETH AR AT 8]
Options:

1. # click twice | ﬁ?ﬁﬁg‘lsﬁ
= ¥ double click | =& TFo®
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2. % mouse click | AT39 T
4 % click once | T a1d

Question Number : 92 Question Id : 3354728322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
M35 Word is a/an

Options:

1. % antivirus | TEETERT

2. % operating systern | SR FEEH
2. % web browser | o9 #TFAT

4, % word processing | 92 AT

Question Number : 93 Question Id : 3354728323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out. | T 590 AT HIHT

Options:
1. % LINUY | ?’Hﬁﬁﬁ

2 % UNIX | gfed

2. ® WINDOWS | TEe
4 W BASIC | =few

Question Number : 94 Question Id : 3354728324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the ‘Father of Cormnputer'? | FHIET B FF B 57

Options:

1. % Charles Babbage | Ied ded
2. % alan Turing | Q& ST

3. * Pascal | UTgEA

4 % Eill Gates | foa Tgd

Question Number : 95 Question Id : 3354728325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_______ 15 a versatile and interactive tool used to create and edit text documents such as lettars, mernos,

reports, and publications. | _______ U SggET T et %WWWE@W@%H T, fedtd afte
mﬁm&ﬁaﬁmﬁmﬁﬁ%w% &«
Options:

1. % Microsoft Word | ATE®EET 92
2. % Microsoft Excel | WTZ®EIFE T

3. % Microsoft PowerPoint | ATSe MEITE Taiqdse
4. ¥ Microsoft Publisher | ATE® ETE Tledat

Question Number : 96 Question Id : 3354728326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a part of central processing unit? | AT & & 3= dga uTatET Jie #7 0w an g7
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Options:
1. ® Printer | fiex
2. % Keyboard | a2
= % Mouse | ATIT
4 ¥ Arithrnetic Logic Unit | sRiofe® At give

Question Number : 97 Question Id : 3354728327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following methods cannot be used to enter data in a cell {in M5 Excel)? | o= # & &1 €1 &7,
(THTE TFad H) UF 9 § ST2T UieNE T & o] SEa AT A1 51 Hd | 57

Options:

1. ® Pressing an arrow key | URT gl gaT
2 % Pressing the tab key | 3 gl ga=1
3. ¥ Pressing the Esc key | Esc il e

4 % Clicking on the formula bar | STHAT 9 0T Toere HeT

Question Number : 98 Question Id : 3354728328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Google Chrorme? | TITH # 17 F4T 37

Options:

1. % Browser | 9134

2. % Search engine | &= &4
3. % e-Mail client | -1 HoEe
4 % website | JEAEC

Question Number : 99 Question Id : 3354728329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the full form of IP in internet terminology? | $e¢-c &1 Sagmaat 1 [P &7 [deagd & F47 57
Options:

1. % Internet Protocol | Set-e TiE e

2. % Internet Packet | 24 e

2. ® Internet Provider | Sed-e UIAEET
4. % Internet Package | S2t-c 0o

Question Number : 100 Question Id : 3354728330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following shortcut keys is used to underline the selected text in M3 Word? | qua‘éﬁrﬁ
Hetgpe T T 3 1 SlETee wed o Ty oeiaiee f & e afd e & o7 e are R < 87

Options:

1. % Ctrl + Shift + U
2. % Ctrl + Alt + D
Yl + U

4 ® alt +D
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